& & &
S & 8 S 88 S & 8
€ =2 £ =2 Z =~ 9
Egg Eegg £y
e E E g E E g E E
T = B T = = e s B
8 § & 8 & & S & &
0 @a 0O B @ 0O B @0
x
b
N N~ N
0 [Te) [Te)
D o D
X X X
o o o
- > >
T T T T 1 T T |
~ w Qe ®w o 1w Qo v 9
(32] [y} N N - - o o
(Y34) oney uoissaidxg aanejaa (Y34) oney uoissaidxg aanejaa (Y34) oney uoissaidxgy aanejas
1) SINIYL — ed epe-yiw
Q. Q. Q.
0 w 0
s &8 S &8 S & 8
€ =2 € =2 € =2
Eago Eegg Eegc
2 §E 2 fE g EE
= E ¥ £ E g -
W m © (%] © © o © ©
0@ 0 4 R | B a0
; : | X
X Z < : E\\\\\\ < ;
3 = 3 _ , s |,
© x © ¥ ®
£ % 5 o = x¥ £ &
[] 1 1
O x { O x { & m i
*
2 : 770 g i 777777 > $ } 7777] ©
.“ ‘........
* i ¥ 1 ¥ i
* = x ¥ x ¥
x 774 z x /L4 =z x /7l Z
E B r | 222772 x 77771
| E | IRRRS|
T T T T P17 = | e s e o e
1) onjey uoissaidx3g annelal 1) onjey uoissaidx3g annelal -
(¥34) oney o 3 aAne| (¥34) oney e 3 aAne| (434) oney uoissaidxg aAefas
o) Q £~ epg-yiw
& & &
s & 8 s 88 S &8
=2 = g =2
Eegcg Eegc Ego
S EE - S EE
§EE - R
8 & & 8 & & 8 & &
B4 O B oo 0 M@0

[ZZZ272727] < b
D 7 N
X X
T T
3 i
=z
T T T T T T T T 1 T T
< 38 & 2 S U
(434) oney uoissaidx3 aAne|al (y34) oney uoissaidxg aAne|al (434) oney uoissaidx3 aAne|as
SINIIL Lzd epe-yiw
© © (@))

Figure S7



